CS 310 Quiz 2, 2/11/08
1. How do the waterfall and evolutionary (rapid prototyping) methods differ? 

Waterfall assumes distinct phases that follow each other with a final product after the last phase
Evolutionary assumes all activities are occurring concurrently and  intermediate versions are released
2. Which of those two methods would be best for each of the following and why?

a. A helicopter avionics system

Waterfall because one can know the requirementsare and a partial delivery is not useful
b. A disaster management system

Evolutionary because you need to enhance it as you understand better the nature of disasters it will have to handle
c. A web site for your rapidly expanding company
Evolutionary because you want something up immediately and it will need to grow with the company
d. A system for tracking visas and foreign travelers

Waterfall because one can know the requirements are and a partial delivery is not useful
3. List 4 issues that must be considered when specifying a system to plan your career after graduation. Which make this a wicked problem and which do not?

1. Will I use COTS (Excel, MS Project...), if so, what




Not wicked

2. What types of opportunities do I need to plan for





Wicked

3. How will economic conditions affect my career





Wicked

4. What do I want to track (positions applied for and status, achievements, contacts)

Not wicked
